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12.

13.

Maximum : qm marks
PART A — Go x2= mo marks)

Answer any TEN questions.

.Expand cos68 in terms of sin@.

cos 66 -g sin b -en ugHsars oAaiflés.

tan2x-2tanx

Evaluate lim 5

x—0 X

lim embmaww»mba - AL,

x—0 .Rm

Prove that cosh?® x +sinh? x = cosh 2x .
cosh? x + sinh” x = cosh 2x e Hlem9.,
If sin(@+ig)=tan(x+iy) =  show - that

tanf  sin2x
tanhg sinh2y’

’

= o) om  tan@ sin2x :
sin(@ + 1) = tan(x +iy) erafled = — GTeT
Gio) (x+1) " tanhg  sinh2y

ST .

1 B.ose Fzﬁ;&

. ’ . r -(dn+)Z

Prove that i* = e -2 where n is an ES er.
m

. |AA=+HVI

i'=e. 2 ﬂm:.%@rs @E@ I GTELIS] (P(pSiaaT.
Sum to infinity :

sin @ _ sin%@
= cos 26 + 21

cos @ + cos 36 + -

.- .9
mﬂbmoommm+m5 g
1! 21!

wyeidar Asmfer e B Asrasmwu sam@9.

cos @+ €08 360 + -+ eremp

Sum the series :
tan@+2tan26 + 2% tan226 + 2% tan 229 + -
to n terms.

tan6 +2tan26 + 27 tan 229 + 27 tan 2 + -
o g6 euemulenar sl (g Ggrensamus srams.

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Prove that :
32sin* #cos? @ = cos66 —2cos 40 — cos 20 + 2.

~ 32sin* fcos®? @ =cos66-2cos40 —cos20+2  eran

Blemia.
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14.

15.

16.

17.

Show that :
16 cosh® 8 = cosh 56 + 5cosh 39 +10cosh 6 .

16 cosh® @ = cosh 58 + 5cosh 36 +10cosh & eran
SITEHTS.

Show that sinh(cot x) = log(cot x + cosec x) .

sinh™ (cot x) = log(cot x + cosec x) eren smars.

If tanlog(x+iy)=a+ib where a*+b®>%1, show

- . 2a
that tanlog(x?® + y?)=—=—
g(x” +y%) I—a? b7
tanlog(x +iy)=a +ib erafled, o’ +b% =1,
i 2a )
tanlog(x® + y%) = —— _ oran sneins.
( R ) T—a? b7
Prove that _OME = 2itan"!(cot x tanh y) .
sin(x —iy)
log L I 2i nmbuxooﬂ xtanh y) eran lemd.
sin{x — Qv

Find the sum of the series :
sin & sin 2¢ + sin 2a sin 3¢ + sin 3a sinda + - --
to n terms. .

sin a sin 2« + sin 2a sin 3¢ + sin 3a sin4a + -
aumpuiionar sl (s Asrasemu sam@idy.
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If embl ﬂmbw.e E.o<m that, sinhy= ntH mbm

2
x

logtan
y=1log ﬁh mw

x 55y o mF —
embm = ambrm aaflé® sinhy=tanx  wHYD

Ho Sbh xw ﬂ@.:@ 9l
y=log 13 W)

Show that log Sbhm + Ww =itan™'(sinh x).

ﬂom ambﬁ A + lw-u .ls._umuLAm.wbravﬂmamqaa_b.

Separate into real and imaginary parts of
log sinix +1y).

logsin(x +iy)-g Qui wHmb sSHu@ar LGS seTTs
_B_ﬂm.wmwp

Prove that sin™ R S i
. 5 17 85"
. 193 8 qq
sin™ = +sin' — =gin™! a.
1 5 in BT sin Tl Hlem
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18. Show that: 21. If tan(@ +ig)=cosa +isina ) show that

Al -1 Lol 18 Ay N (@) g="2 2
tan’ 5 tan2A |[+tan " (cot A) + tan ™ (cot® A)=0. 2 "4
| : T a
. el = I_o tan| —+
Sb-wﬁw tan mx@ +tan'(cot A) +tan'(cot® A)=0 LA A 2 € _ ﬁ& 2 w

tan(@ +ig) =cosa +isina erafle

ere &renrlal.
% = E 4 m
19. Sum to n terms the series : () I= 2 4
sin M+wm5 %N+wnm5 %+ A&v &llﬂomﬂmbﬁhﬁ Mu ﬂg%@ﬁd
Sin® M +3sin %N & ww il .%w 4. n eueiyener 22. If ccosh(f+ig)=x+iy prove that

. _. _ 2 120, 2 24 2
Qam_fer sl B QU:@&%E& SRS, (@) x"sech®d+y’cosech’d=c
®) x?sec’® g- yicosec®p=c?.
PART C — (38 x-10 = 30 marks) . .
ccosh(f+ig)=x+1iy erafléd

: »P,bméou. any emw.mm mzmmﬁobm. . | (<) x%sech?6+ y2cosech?d = c?
20. Prove that: S . : () x”sec’ g .ewoomm.omﬁ = n.n era lem L.
cos® 0 = anmoom 86+ mnom 66 + mm cos »m + mm c0s 20+ wm_ 23. Solve .26 equation :
3tan™ = 1 FE ﬁma-_ 1 a__m,u_l__ W
cos m-Qwommm+m8m%+mm8m%+mmemwfwm_ o Pigtafs
: 3tan' —L1_ _ a1l Ztan? GFemm FLOETLIML anL
eren Hlemedl. , 2+43 x 3
: . Sirés.
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24. Sum the series to n terms:

sin§ sin@ sin @
: - +— - + -
sin20sin30 sin30sin4f sin46sin56
sin @ " siné . sinf fis

sin26sin38 sin3#sin4d sin46sinb56
@Qsm_fleo ‘7’ egliysar  aeniere  &al(s

Qsrensmud saT® .. -
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